



International Journal of Information Research and Review Vol. 04, Issue, 07, pp.4288-4293, July, 2017



RESEARCH ARTICLE

DERIVING RECOGNIZABLE NUMBERS USING INVERSE Z -TRANSFORMS

^{*1}Pandichelvi, V. and ²Sivakamasundari, P.

¹Assistant Professor, Department of Mathematics, Urumu Dhanalakshmi College, Trichy ²Guest Lecturer, Department of Mathematics, BDUCC, Lalgudi, Trichy

ARTICLE INFO

ABSTRACT

In this communication, we determine some recognizable numbers by applying the properties of inverse Z -Transforms.

Article History: Received 21st April, 2017 Received in revised form 19th May, 2017 Accepted 29th June, 2017 Published online 26th July, 2017

Keywords:

Inverse *Z* -Transforms, Special numbers.

Copyright©2017, Pandichelvi and Sivakamasundari. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution and reproduction in any medium, provided the original work is properly cited.

INTRODUCTION

Z-Transform is a Transform for a sequence. The development of communication branch is based on discrete analysis. Z-Transform plays the same role in discrete analysis as in continuous systems. The Z-Transform technique used for time signals and systems. In this communication, we develop some familiar numbers by using the properties of inverse Z-transforms, the partial fraction method, the residues theorem and convolution theorem.

Notations

 $J_n: \frac{1}{3} \Big[2^n - (-1)^n \Big] = \text{Jacobsthal number of rank } n$ $K_n: 4^n + 2^{n+1} - 1 = \text{Kynea number of rank } n$ $T_n: 3 \cdot 2^n - 1 = \text{Thabit number of rank } n$ $Carl_n: 4^n - 2^{n+1} - 1 = \text{Carlol number of rank } n$ $W_n: n \ 2^n - 1 = \text{Woodall number of rank } n$ $C_n: n \ 2^n + 1 = \text{Cullen number of rank } n$

Definition

If the function u_n is defined for discrete values (n = 0, 1, 2, 3,) and $u_n = 0$ for n < 0, then its Z - Transforms is defined to be $Z(u_n) = U(z) = \sum u_n z^{-n}$. The inverse Z -Transform is written as $Z^{-1}[U(z)] = u_n$.

*Corresponding author: Pandichelvi, V.

Assistant Professor, Department of Mathematics, Urumu Dhanalakshmi College, Trichy.

Theorem: I

The inverse Z-Transform of U(z) is given by the formula $u_n = \frac{1}{2\pi i} \int_c U(z) z^{n-1} dz$ = sum of residues of $U(z) z^{n-1}$ at the

poles of U(z) which are inside the contour C.

Theorem: II

If
$$Z^{-1}[U(z)] = u_n$$
 and $Z^{-1}[V(z)] = v_n$, then $Z^{-1}[U(z) \cdot V(z)] = \sum u_m v_{n-m} = u_n * v_n$ where the symbol denotes

the convolution operation.

Method of Analysis

The procedure for determining the sequence of some special numbers by applying inverse Z-Transform is explained detailly as below.

Theorem 1

$$Z^{-1}\left[\frac{z}{(z+1)(z-2)}\right] = J_n \text{ where } |z| < 3$$

Proof

Take
$$U(z) = \frac{z}{(z+1)(z-2)}$$

The poles of U(z) are z = -1, z = 2

Using U(z) in the inversion integral, we have

$$u_{n} = Z^{-1}[U(z)] = \text{Sum of the residues of } U(z) \cdot z^{n-1} \text{ at the poles } z = -1, z = 2.$$

Now,
$$\operatorname{Res} \left[U(z) \cdot z^{n-1} \right]_{z=-1} = \underbrace{Lt}_{z \to -1} \left[\frac{z^{n}}{(z-2)} \right] = \frac{(-1)^{n}}{-3} = \frac{-(-1)^{n}}{3}$$

$$\operatorname{Res} \left[U(z) \cdot z^{n-1} \right]_{z=2} = \underbrace{Lt}_{z \to 2} \left[\frac{z^{n}}{(z+1)} \right] = \frac{2^{n}}{3}$$

In view of theorem (I), we get

$$Z^{-1}\left[\frac{z}{(z+1)(z-2)}\right] = \frac{2^n}{3} - \frac{(-1)^n}{3} = \frac{1}{3}\left[2^n - (-1)^n\right] = J_n$$

Theorem: 2

$$Z^{-1}\left[\frac{2z^3 - 7z^2 + 2z}{(z-1)(z-2)(z-4)}\right] = K_n \text{ where } |z| < 5$$

Proof

Choose
$$U(z) = \left[\frac{2z^3 - 7z^2 + 2z}{(z-1)(z-2)(z-4)}\right]$$

The poles of U(z) are z = 1, z = 2 and z = 4

By theorem I, we have

 $Z^{-1}[U(z)]$ = Sum of the residues of $U(z) \cdot z^{n-1}$ at the poles are z = 1, z = 2, z = 4. Now,

$$\operatorname{Res} \left[U(z) \cdot z^{n-1} \right]_{z=1} = \underset{z \to 1}{Lt} \left[\frac{2z^{n+2} - 7z^{n+1} + 2z^n}{(z-2)(z-4)} \right] = -1$$

$$\operatorname{Res} \left[U(z) \cdot z^{n-1} \right]_{z=2} = \underset{z \to 2}{Lt} \left[\frac{2z^{n+2} - 7z^{n+1} + 2z^n}{(z-1)(z-4)} \right] = 2^{n+1}$$

$$\operatorname{Res} \left[U(z) \cdot z^{n-1} \right]_{z=4} = \underset{z \to 4}{Lt} \left[\frac{2z^{n+2} - 7z^{n+1} + 2z^n}{(z-1)(z-2)} \right] = \frac{2 \cdot 4^{n+2} - 7 \cdot 4^{n+1} + 2 \cdot 4^n}{6} = 4^n$$

Hence,

$$Z^{-1}\left[\frac{2z^3 - 7z^2 + 2z}{(z-1)(z-2)(z-4)}\right] = 4^n + 2^{n+1} - 1 = K_n$$

Theorem: 3

$$Z^{-1}\left[\frac{2z^2-z}{(z-1)(z-2)}\right] = T_n \text{ where } |z| < 3$$

Proof:

Let
$$U(z) = \left[\frac{2z^2 - z}{(z - 1)(z - 2)}\right]$$

The poles of U(z) are z = 1 and z = 2

Now,

Res
$$\left[U(z) \cdot z^{n-1}\right]_{z=1} = \underset{z \to 1}{Lt} \left[\frac{2z^{n+1} - z^n}{(z-2)}\right] = -1$$

Res $\left[U(z) \cdot z^{n-1}\right]_{z=2} = \underset{z \to 2}{Lt} \left[\frac{2z^{n+1} - z^n}{(z-2)}\right] = 3 \cdot 2^n$

By theorem I, we get

$$Z^{-1}\left[\frac{2z^2-z}{(z-1)(z-2)}\right] = 3 \cdot 2^n - 1 = T_n$$

Theorem: 4

$$Z^{-1}\left[\frac{13z^2 - 2z^3 - 14z}{(z-1)(z-2)(z-4)}\right] = Carl_n$$

Proof:

Let
$$U(z) = \left[\frac{2z^2 - z}{(z-1)(z-2)}\right]$$

.....(1)

$$\Rightarrow \frac{U(z)}{z} = \left[\frac{13z - 2z^2 - 14}{(z-1)(z-2)(z-4)}\right]$$

By applying partial fraction on the right side of (1), we obtain

$$U(z) = \frac{-z}{(z-1)} - \frac{2z}{(z-2)} + \frac{z}{(z-4)}$$

Taking the inverse Z -Transforms on both sides, we get

$$Z^{-1}[U(z)] = 4^n - 2^{n+1} - 1 = Carl_n$$

Theorem: 5

$$Z^{-1}\left[\frac{z^2}{a(z-a)(z-b)}\right] = \frac{a^n - b^n}{a-b}$$

Proof

$$Z^{-1}\left[\frac{z^2}{a(z-a)(z-b)}\right] = Z^{-1}\left(\frac{z}{a(z-a)}\cdot\frac{z}{(z-b)}\right)$$

We know that

$$Z^{-1}\left[\frac{z}{a(z-a)}\right] = a^{n-1}, Z^{-1}\left(\frac{z}{(z-b)}\right) = b^n$$

By theorem (II), we get

$$Z^{-1}\left[\frac{z^2}{a(z-a)(z-b)}\right] = a^{n-1} * b^n = \sum_{m=0}^n a^{m-1} \cdot b^{n-m} = b^{n-1} \sum_{m=0}^n \left(\frac{a}{b}\right)^{m-1} = \frac{a^n - b^n}{a-b}$$

Remarks 1

If
$$a = k + \sqrt{k^2 + 4}$$
; $b = k - \sqrt{k^2 + 4}$ then, we observe that
 $Z^{-1}\left[\frac{z^2}{a(z-a)(z-b)}\right] = \frac{\left(k + \sqrt{k^2 + 4}\right)^n - \left(k - \sqrt{k^2 + 4}\right)^n}{\left(k + \sqrt{k^2 + 4}\right) - \left(k - \sqrt{k^2 + 4}\right)} = k$ -Fibonacci sequence.

Remarks 2

When a = 2, b = -1, we notice that

$$Z^{-1}\left[\frac{z^2}{a(z-a)(z-b)}\right] = \frac{2^n - (-1)^n}{2 - (-1)} = \frac{1}{3}\left[2^n - (-1)^n\right] = J_n$$

Theorem: 6

$$Z^{-1}\left[\frac{6z^2 - 6z - z^3}{(z-2)^2(z-1)}\right] = W_n$$

Proof
Let
$$U(z) = \left[\frac{6z^2 - 6z - z^3}{(z - 2)^2(z - 1)}\right]$$

 $\Rightarrow \frac{U(z)}{z} = \left[\frac{6z - 6 - z^2}{(z - 2)^2(z - 1)}\right]$

By applying partial fraction on the right side of (2), we obtain

$$U(z) = \frac{2z}{(z-2)^2} - \frac{z}{(z-1)}$$

Taking the inverse Z -Transforms on both sides, we get

$$Z^{-1}[U(z)] = n 2^n - 1 = W_n$$

Theorem: 7

$$Z^{-1}\left[\frac{z^3 - 2z^2 + 2z}{(z-2)^2(z-1)}\right] = C_n$$

Proof

Let
$$U(z) = \left[\frac{z^3 - 2z^2 + 2z}{(z-2)^2(z-1)}\right]$$

 $\Rightarrow \frac{U(z)}{z} = \left[\frac{z^2 - 2z + 2}{(z-2)^2(z-1)}\right]$

Using partial fraction on the right hand side of the above equation, we find that

$$U(z) = \frac{2z}{(z-2)^2} + \frac{z}{(z-1)}$$

Employing the inverse Z -Transforms on both sides, we get

$$Z^{-1}[U(z)] = n 2^n + 1 = C_n$$

Conclusion

In this paper, we obtain some special numbers by applying the inverse Z - transforms, the partial fraction method, the residues theorem and convolution theorem. In this manner, one can evaluate some other numbers by applying various properties of some other transforms.

REFERENCES

Dickson, L. E., History of Theory of numbers, Vol.2: Diophantine Analysis, New York, Dover, 2005. Carmichael, R.D., The Theory of numbers and Diophantine Analysis, Dover Puplication, New York (1959). Mordell, L.J., Diophantine equations, Academic press, London (1969). L.K.Hua, Introduction to the theory of numbers, springer-verlag, Berlin-New york 1982.

T.Nagell, Introduction to Number Theory, Chelsea Publishing Company, New York 1981.

I.G Bashmakova(ed.), Diophantusnof Alexandria, Arithmetic's and the book of polygonal numbers, Nauka, Moscow, 1974. Oistein Ore., Number theory and its History, Dover, New York (1988).

.....(2)

David Wells., The Penguin Dictionary of curious and interesting numbers, Penguin Book, (1997).

John, H.Conway and Richard K.Guy, the Book of Numbers, Springer Verlag, New York, (1995).

Dr.B.S.Grewal, Higher Engineering Mathematics, Khanna Publishers New Delhi 2007

J.R.Ragazzini and L.A.Zadeh (1952)., The Analysis of Sampled – Data Systems, Trans. Am. Inst. Elec. Eng.71 (II) :225-234.

Eliahu Ibrahim Jury (1964). Theory and Application of the Z -Transform method. John Wiley and Sons.P.1.

Eliahu Ibrahim Jury (1973). Theory and Application of the Z -Transform method. Krieger Pub Co. ISBN 0-88275-122-0.

E.R.Kanasewich (1981). Time sequence analysis in geophysics $(3^{rd} ed.)$. University of Alberta. Pp. 185-186. ISBN 978-0-88864-074-1.
